

دالة التوليد لـ $\sqrt{1-z}$

الحل

17

$$f'(n) = \frac{f(n)}{n} \Rightarrow \frac{f(n+1)}{n+1} = \frac{f(n)}{n} - \frac{1}{n(n+1)}$$

$$f'(n) = \frac{1}{n(n+1)} = \frac{1}{n} - \frac{1}{n+1}$$

$$f'(n) = \frac{1}{n} - \frac{1}{n+1} \Rightarrow f'(n) = \frac{1}{n} - \frac{1}{n+1}$$

18

$$\frac{f(0) - f(-1)}{0 - (-1)} = -1 \Rightarrow \frac{1 - (1)(-1)}{1} = -1$$

$$\Rightarrow 1 + 1 - 1 = -1 \Rightarrow 1 - 1 = -1 \Rightarrow 0 = -1$$

19

$$f'(n) = \frac{f(n)}{n} = \frac{f(n+1)}{n+1} + \frac{f(n)}{n(n+1)}$$

$$n = n+1 \Rightarrow f'(1) = \frac{f(1)}{1} = \frac{f(2)}{2} + \frac{f(1)}{1(2)}$$

$$f(n) = \sin n \cos n$$

$$g(n) = \sin^2 n - \cos^2 n$$

$$\frac{1}{n} - \frac{1}{n+1} = \frac{1}{n(n+1)}$$

سوال اول

$$f'(m) = (r \tan a (1 + \tan^2 m) - \sqrt{r} \sin a) (f'(t \tan^2 + \sqrt{r} \cos a))$$

$$\theta'(\frac{r}{2}) = 2a(1+1) - \sqrt{r} \sin \frac{r}{2} \quad f'(1 + \sqrt{r} \sin \frac{r}{2}) = (r-1)(f'(r)) = 3f'(r) \quad \sqrt{r}$$

$$f'(r) = \frac{\sqrt{r}}{r}$$

$$f(m) = \frac{(r + \cos m)(\sin + \cos^2 m - r \cos m)}{(r - \cos m)(r + \cos m)} = \frac{\cos^2 m - r \cos m + \sin}{r - \cos m}$$

$$f + g = \frac{\cos^2 m - r \cos m + \sin}{r - \cos m} = \frac{r \cos^2 m}{r - \cos m} + \frac{\cos m (\cos m - r)}{r - \cos m} = \frac{\cos m}{r - \cos m} - \cos m$$

$$(f+g)' = -(-\sin m) = \sin m \quad \Rightarrow \quad \sin \frac{r}{2} = \frac{1}{r}$$

$$f(m) = \frac{f(m) - f(\frac{r}{2})}{m - \frac{r}{2}} = f'(\frac{r}{2}) = \frac{1}{\sin m - r \sqrt{\cos m}} = 0$$

$$f'(\frac{r}{2}) = \frac{\sin - r \sqrt{\cos}}{m - \frac{r}{2}} = f'(\frac{r}{2}) = \frac{-(-\sin m - r \sqrt{\cos m})}{m - \frac{r}{2}} = f'(\frac{r}{2}) - f'(\frac{r}{2}) =$$

$$\frac{r(\sin m - r \sqrt{\cos m})}{m - \frac{r}{2}} = \frac{r \sin m (m - \frac{r}{2}) \sqrt{\cos m}}{m - \frac{r}{2}} = \sqrt{\cos m} = 2\sqrt{4} \Rightarrow a = 2$$

$$y = -am + r \Rightarrow f(\varepsilon) = -\varepsilon a + r \Rightarrow f'(\varepsilon) = -a \Rightarrow f'(\varepsilon) = f'(\varepsilon) =$$

$$-\varepsilon a + r - a = -1 \Rightarrow -\varepsilon a = -3 \Rightarrow a = \frac{3}{\varepsilon} \Rightarrow f'(\varepsilon) = \frac{3}{\varepsilon} - \frac{3}{\varepsilon}$$

$$\frac{am}{m+1} = \frac{m+r}{\sqrt{r}} \Rightarrow \frac{r m^2 + 4 m r + \omega}{\sqrt{r}} = \sqrt{r} m - r$$

$$\Rightarrow r m^2 - (4 - \sqrt{r}) m + 1 = 0 \Rightarrow \Delta = 0 \Rightarrow (4 - \sqrt{r})^2 - 4(1)(1) = 0$$

$$(4 - \sqrt{r})^2 = (1)^2 \Rightarrow 4 - \sqrt{r} = 1 \Rightarrow \sqrt{r} = 3 \Rightarrow r = 9$$

$$14 - \sqrt{a} = -12 \Rightarrow \sqrt{a} = 26 \Rightarrow a = 676$$

$$f(r) = 1 + r a - b = 0$$

$$f'(m) = 3m^2 + a \Rightarrow f'(r) = 3a + a = 4 \Rightarrow a = \frac{4}{4} = 1$$

$$1 - r \varepsilon - b = 0 \Rightarrow b = 1 - 14 = -13$$

$$\lim_{n \rightarrow \infty} \frac{\cos a^n \sin n \sin^{-1}(m^2) \sin^n(m^2)}{(1 - \cos m)^m} = \frac{\lim_{n \rightarrow \infty} \cos a^n \sin n \sin^{-1}(m^2) \sin^n(m^2)}{n^m \frac{1}{\varepsilon}}$$

$$\lim_{n \rightarrow \infty} \frac{\cos a^n \sin n \sin^{-1}(m^2) \sin^n(m^2)}{n^m \frac{1}{\varepsilon}} = \frac{\lim_{n \rightarrow \infty} \cos a^n \sin n \sin^{-1}(m^2) \sin^n(m^2)}{n^m \frac{1}{\varepsilon}}$$